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QUESTION 1

A hospital needs a Getter way to track its inventory Including wireless medical devices that are moved around the site a
lot. Which solution meets these needs? 

A. Aruba asset tags and beacons 

B. Aruba beacons. APs. and AirWave 

C. Aruba beacons and Meridian 

D. Aruba asset tags, APs; and Meridian 

Correct Answer: C 

 

QUESTION 2

A network architect plans to propose a virtual Mobility Master (VMM) tor a new solution. 

The solution will support up to 4.800 

wireless client devices and include: 

*

 two Virtual Mobility controllers (VMCs) in a cluster 

*

 180 APs 

Which licenses should the architect propose? 

A. 

1 MM-VA-500; 2 MC-VA-250; 540 Enterprise licenses 

B. 

1 MM-VA-1K; 2 MC-VA-25Q; one Enterprise license 

C. 

1 MM-VA-IK:I MC-VA-250; 180 Enterprise licenses 

D. 

1 MM-VA-500; 1 MC-VA-250; 180 Enterprise licenses 

Correct Answer: C 
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QUESTION 3

A customer requires new MCs for a large multi-site network with about 600 AP-535S ana 30,000 wireless clients. The
customer requires redundancy for the MCs, with each MC being able to handle the full toad in a failover situation The 

network should be able to sustain the loss of a controller with stateful failover within seconds. It should be able to
undergo software upgrades without downtime. 

The architect has recommended two 7240XM MCs. The customer points out that 7220 MCs can support their
requirements and wonders why the architect recommended me 7240XMS. 

What should the architect explain? 

A. The 7240XM MCs have better redundant power supplies and fan tray component capabilities than 7220 MCs. 

B. The 724QXM MCs can support full CPSec tunnels with this number of APs. while the 7220 MCs cannot. 

C. The 7240XM MCS provide a higher number of concurrent GRE tunnels to support 600APs with MCS in L2
clustering. 

D. The 7240XM MCs are required to support the large number of wireless clients in this network 

Correct Answer: D 

 

QUESTION 4

A company has several remote sues that operate more or less autonomously. Each site has ns own local services
andInternet connection However the company does have a main office with a few centralized resources that the
company would like to make available to remote office employees over the Internet connection. Sites range in size and
require between 10 and 20 APs. 

The customer requires the most cost-effective solution that meets the requirements. 

Which solution should the architect recommend for each remote site? 

A. Campus APs (CAPs) with a local MC that has an SD-WAN license 

B. Remote APs (RAPs) with IPsec tunnels to a main office MC 

C. an IAP cluster with an IPsec tunnel to a main office MC 

D. Campus APs (CAPS) with CPSec control channels to a main office MC 

Correct Answer: A 

 

QUESTION 5

A customer has multiple, very small branch sites that require just one or two APs each. The office has a local Internet
connection, but all of the traffic is destined To the corporate data center, which has an Aruba wireless solution. Which
branch office solution best meets the customer needs? 

A. RAPs and no branch office controllers 
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B. IAPs and 7005 branch office controllers with an 3D-WAN license 

C. CAPS and 7005 branch office controllers 

D. RAPs and 7005 branch office controllers with an. SD-WAN license 

Correct Answer: C 
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